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; 100kN/mM#Z#BZ2% | 1.00 | 000 ~ 249 139.03 |3ImEBZB| — ~ — — — | 100kN/mM%#BZ5 | 1.00 | 1082 ~ 2460| 1539.03 |3mEREZD -~ — — —
Fh s 1.00| 249 ~ 1028 100.00 | ThLS | 000 ~ 1028|257 12.99 Fh s 1.00]5.00 ~ 1082 100.00 | THhLS | 5.00 ~ 2460|257 12.99
2 100kN/mM#Z#BZ2% | 1.00 | 000 ~ 237 13694 |3ImEBZB| — ~ — — — | 100kN/mM%E#BZ5 | 1.00 | 1089 ~ 2370| 156.94 |3mEREZD -~ — — —
Fh s 1.00| 237 ~ 1015 100.00 | ThLS | 0.00 ~ 1015] 2.56 12.92 Fh s 1.00]5.00 ~ 1089 100.00 | TnLS | 5.00 ~ 2370 | 2.56 12.92
3 100kN/mM#Z#BZ2% | 1.00 | 000 ~ 1.98| 130.60 |3m&EBZB| — ~ — — — | 100kN/m%E#BZ25 | 1.00 | 11.15 ~ 21.39| 130.60 |3mE#EZS -~ — — —
Fh s 1.00] 198 ~ 9.77| 100.00 | FThLs | 000 ~ 9.77| 2.562 12.71 Fh s 1.00|5.00 ~ 1115 100.00 | ThLS | 5.00 ~ 2139|252 12.71
4 100kN/m#Z#82% | 1.00 | 000 ~ 1.42| 121.65 |3m&EBZB| — ~ — — — | 100kN/mMi%#BZ2% | 1.00 | 1096 ~ 1660| 121.65 |3mEREZD -~ — — —
Fh s 1.00 | 1.42 ~ 9.21 100.00 | #hdst | 000 ~ 921|223 11.28 Fh s 1.00]5.00 ~ 1096 100.00 | TN | 5.00 ~ 1660 | 2.23 11.28
5 100kN/m#Z#BZ2%| 1.00 | 000 ~ 140 121.32 |3m&EBZB| — ~ — — — | 100kN/mM%E#BZ5 | 1.00 | 11.29 ~ 1744| 121.32 |3mEREZD -~ — — —
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Fh s 1.00 | 1.64 ~ 9.33 100.00 | Fhdst | 0.00 ~ 933|223 11.27 Fh s 1.00]5.00 ~ 1097 100.00 | TN | 5.00 ~ 1732 2.23 11.27
- 100kN/m#Z#82% | 1.00 | 000 ~ 1.18| 11780 |3ImEBZB| — ~ — — — | 100kN/mM%#BZ5 | 1.00 | 1095 ~ 1528 | 117.80 |3mEkEZ3 -~ — — —
Fh s 100|118 ~ 896 100.00| Thbs | 0oo ~ 896|224 11.50 Fh s 1.00 | 5.00 ~ 1093 100.00 | TN | 5,00 ~ 1528 | 2.24 11.30
g 100kN/mM%#B% % — -~ - —|3mZzEZB| — ~ — — — | 100kN/mMi%#8 %% — - ~ — —|3mZEBZ B - ~ — — —
znLs 1.00 | 0.00 ~ 7.53 96.28 | N4 | 0oo ~ 000|175 8.85 znLs 1.00 | 5.00 ~ 9.90 96.28 | #ns | 6.00 ~ 990|175 8.856
9 100kN/mM%Z#B% % — -~ = —|3mZzEZB| — ~ — — — | 100kN/mM%# %3 — - ~ — —|3mZEBZ B - ~ — — —
znLs 1.00 | 0.00 ~ 475 59.21 | #hst | 0oo ~ 000|167 8.46 s 1.00 | 5.00 ~ 5.00 59.21 | #nLs | 5,00 ~ 500 1.67 8.46
100kN/mM%Z#B% % ~ ImERBZD ~ 100kN/m%Z#B% % ~ ImEBZD ~
Zh s ~ ZhLsh ~ Zh s ~ ZhLsh ~
100kN/mM%Z#B% % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZD ~
Zh s ~ ZhLsh ~ Zh s ~ ZhLs ~
100kN/mM%Z#B% % ~ ImERBZD ~ 100kN/m%Z#B% % ~ ImEBZDS ~
Zh s ~ ZhLsh ~ Zh s ~ ZhLs ~
100kN/mM%Z#B% % ~ ImERBZD ~ 100kN/m%Z#B% % ~ ImEBZDB ~
Zh s ~ ZhLsh ~ Zh s ~ ZhLsh ~
100kN/mM%Z#B% % ~ ImERBZD ~ 100kN/m%Z#B% % ~ ImEBZD ~
Zh s ~ ZhLsh ~ Zh s ~ ZhLsh ~
100kN/mM%Z#B% % ~ ImERBZD ~ 100kN/m%Z#B% % ~ ImEBZDS ~
ZNLs ~ Zh LS ~ ZNLs ~ ZThLs ~
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